| Efficiency vs Dxy |
> 0.2 : : : : : : :
5 - : : 5 : : :
0 0.18p e R e M
> - 5 5 5 5 5 5
Q0. 16 s
© C : : é : :
£0.14p e A A

b= r : : : : : : :
B A S [ A S S

R e R T S
O A A (I S e
0,08+
T e S | S e
PO T T T . O W W

PR SUUTS FURUE FUUUL U | SN DOV PO SO0
S bt W
L T O | W W W

510 15 20
TP dxy (cm)

“mkFitREFit-test 1000evt
M”mkFitREFit-OR-test_1000evt
“mkFitREFit-ORK-test_1000evt

—=— U% I CRE-Test_1000evTl

D
05 —— DOM mkFltREFlt OR4 test 1000evt

s dz

V.

o
>
T

o
~
[

YT VRIS SN RSN SIS S —

efﬂmency

o
w
I

e o
02

T =
0 s s s

T T
O:....'....i".i.'lp!.'

I S 8 e 1111 11| SO SR

Ratio

08520 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


